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0 83 E8 AF 95 c89 126683.htm 94. x is more than 3 but less than
100, ask how many prime squres are in 3/x. (9 and 25 only)95.two
identical square in one rectangular, the perimeter of rectangular is
18xsqurt2, ask the perimeter of each square(old jj, but old jj but
rhombus instead of identical square)96. 3UJ 301 [J [0 400 0O O 0 401
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0000 Oans87)99. A1=300 A2=5[0 An=An-1 An-201 pls
add A10] A2to A1000] ask the resultAnswerd 7100.00 OO O O O
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0 00O R=-00O 0O (0.0025), S=-0 0 O (1/1600), T=-[00 O
[1(0.04)]/20 0O O O :T 103. One ball will 0Odrop from a certain
height. The height it will reach after rebounding from the floor is 75
percent of the previous height. The total travel is 2146¢cm when it
touchs the floor on third time. Ask for the original
height?a)400cmb)500cmc)600cmd)700cme)800cmAnswer:
c104.Jans 160. change 4w/3 to 5w/4.my Answer: D, 12 100Test [ [J
Jo0odobooooooooooobooonoad
www.100test.com



